Chapter 3 Review (Unit 2 Exam)
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Identify the transversal and classify each angle pair.

1. ~land /3

/. wrrcsf'ar\fma , Fransversed 4

2. 72 and /B 2. €SI, Fromevercel n

State the theorem or postulate that is related to the measures of the angles in each pair. Then find the

unknown angle measures. 2 ATAY IX—13E5 = X~ 30
3. m23 = (2x -135)°, m£4= (x - 30)° ' K= 10§

ML= 2ip—135 =787
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5. Solve to find x and y in the diagram.

) fox=90 x=9
T+ Ay Q(q) *th{ = 90
sl . - 50
o ’77_; #g{g@
y=
Determine whether the lines are parallel, intersect, or coincide.
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8. Write a two column proof in space below.
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9. Wrife an equation of a line in Slope intercept form through the point (2, 1) that is - fo the line 6x—2y =12
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10. Classify each statement belo%as true or false ?f false, draw or state a counterexample.

a. Two lines that are not parallel must intersect, TRUE FALSE )

BN LNES

b.  When proving that lines are parallel, be sure to use the TRUE

Muak vt Lonverd

theorem and not it’s converse.

Given a // b, use the picture to the right to complete each
statement
with a numerical answer,

11. Hme13 =13, thenmz15=_ 1> |

12. If mz1 = 58, then m26 = 2.2

13. If m215=11x and m213 = 12x — 4, then x = & .
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Can the given information be used to tell whether lines « and b must be parallel? Write yes or no and
justify your answer.

&
15. 22 and £3 are congruent. Ne - S’,\,.NKWM\:\)

16. 29 = 211 NES - Cervedponding
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18. <7 and 210 are supplements No - ot on corcec A s«

19, How do alternate interior angles differ from alternate exterior angles?
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20. If two lines are cut by a transversal how many pairs of corresponding angles are formed?

‘{' ‘Fmrs

21. If two lines are cut by a transversal, four interior angles are formed. If one pair of alternate interior
angles measures 90° explain why all four interior angles must measure 90°,
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Chapter 3 Review (Unit 2 Exam) Name:

Identify the transversal and classify each angle pair.
1. /Tand /3

2. 2 and /B

Stafe the theorem or postulate that is related to the measures of the angles in each pair. Then find the
unknown angle measures.
3. m/3 = (2x -135)°, m /4= (x - 30)°

4. m/3 = (55x -5)°, m5 = (15x + 45)°

5. Solve to find x and y in the diagram.
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Determine whether the lines are parallel, intersect, or coincide.

1
-4 =——, y—5=2(x+3
6 50 Y (x+3)

7. 2y=4x+12, 4x-2y=8



8. Write a two column proof in space below.
Given: p [{r, Z1= £3
Prove: £ || m

9. Write an equation of a line in slope-intercept form through the point (2, 1) that is - to the line 6x—2y =12

10. Classify each statement below as true or false. If false, draw or state a counterexample.

a. Two lines that are not parallel must intersect. TRUE FALSE

b.  When proving that lines are parallel, be sure to use the TRUE FALSE
theorem and not it’s converse,

Given a // b, use the picture to the right to complete each B
statement
with a numerical answer.

11, I m213 =13, then m<15 =
12. 1f m21 = 58, then m<6 =

13. 1fmel5=11x and m<13 = 12x — 4, then x =

14. 1T m21 =19x + 1 and m£5=15x + 13, then mz1 =

Can the given information be used to tell whether lines @ and h must be parallel? Write yes or no and
justify your answer.

15, £2 and £3 are congruent,

16. 29 = 211

17. als and bls




18. £7 and 410 are supplements

19. How do alternate interior angles differ from alternate exterior angles?

20. If two lines are cut by a transversal how many pairs of corresponding angles are formed?

21. If two lines are cut by a transversal, four interior angles are formed. If one pair of alternate interior
angles measures 90° explain why all four interior angles must measure 90°.

22.  Given: {||m

Prove: /| == /7
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